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MULTIPLE CHOICE QUESTIONS (MCQs)

D
‘ * Subtraction of vectors Aand B * Division of vectors Aand B
* Resolution of vectors A and B * Multiplication of vectorsA and B
(2) A vector is a physical quantity which has: :
* Magnitude * Direction * Both of them * None of these
(3).  Which of the following is scalar quantity: o ’
* Velocity * Speed . ~ * Force . * Momentum
@ If AX §=Cpoints along Z — axis then the vector A and B must lie in:
* yz — plane * xy-plane * xz-plane * None of these
(5) Kinetic energy is a quantity which is: ’
* Scalar . A * Vector
* Both Scalar and Vector -~ * None of these
(6) - Vectors are added according to:
* Left hand rule  * Right hand rule * Head to-tanl rule * None of these
N lz.(l{xﬁ) has value: .~ * Zero * One * ] *f
(8) To subtract a glven vector from another its - vector is added to the
other one: ‘ . ; LET
* * Double © *Half * Negative = * Positive
(9) A null vector has: - S S
* No direction *No magnitude . * No existence * Neither
(10) A vector which has magnitude one is calied: |
_* Null vector * Unit vector * Negative vector * Resultant vector
(11) A vector which has magmtude zero is called:
* Unit vector * Negative vector * Null vector - * None of these
(12) If a vector quantity is divided by its magnitude then the vector obtained is called:
-* Unit vector * Position vector  * Null vector * Free vector '
(13) The angie between two rectangular components of a vector is: -
* 0 * 30 %400 %900
(14) A vector in space has: : , :
* ] component * 2 components - * 3 components ~ * 4 components
(15) The minimum number of unequal forces when resultant will be zero:
% 5 . ®3 o* g o N 3
"(16) Thesum of two or more vectors is equal to a single vector which is called:
* A null vector. * A'unit vector - .* A negative vector * A resultant vector
(17) When a certain vector is multiplied bv a — ve number the direction changes by
*90° * 180° %1200 % 60°
(18) Two perpendicular vectors havmg magnitudes of 4 unit and 3 unit are
added. Their resultant has the magnitude of: v '
* 7 Unit ’ * 12 Unit * 25 Unit * 5 Unit
(19) The magnitude of vectorA = Axi + A yf +Azk :
*A=Ax+ Ay ' * A =(Ax)* + (Ay)®
% A=J(Ax)*+(Ay)’ + (Az)* * A Cos + A Sind
(20) If a force of 10N makes an angle of 30° with x — ax1s, its x — component is
given by: : : :

Addition of a vector A to a vector — B is equivalent to:

£ B
* 0.866N . * 8.66N i * 86.6N - T * 892N
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(21) 1If a force of 10N makes an angle of 60° with x — axis, its y — component is
given by: ’ , .
* 0.866N * 8.66N * 86.6N - *89.2N
(22) Two forces of magnitudes F, and F, act on a body at right angle to each
other, the magnitude of resultant:
*F+F * JE+F, » JEYHE)?  *JR-F
(23) Two forces of magnitudes F, and F, act on a body at an angle 6, to each
other the magnitude of resultant force is: ,
) 2+' 2
*JEPHEY . ) 2<F:>
* \/(E)2+ (F,) +%F,F2 * V/F,Z +F; + 2FF,Cosb
(24) The resultant of force 4N and 3N force acting on a body at right angle to
each other is:
* Zero *SN . *7TN-. ‘ ~*15N
(25) If two forces of the same magnitude F are acting at an angle 120 with each
. other, the magnitude of their resultant will be: ~
* 2F *0 - *05F & *F
(26) Thexandy component vectors are IN each, the angle made by the resultant
vector is:
*0 *30° _ * 45" , * 90
(27) If two forces of the same magmtude F make an angle of 180° with each other,
their resultant is: _
*2F * Zero * O SF *F
(28) The posmon vector of a pomt inxz - plane is glven by:
*T= x1+yJ+Zk *r= x1+y_| _ * F=xi+Zk
(29) The position vector of a point in xy — plane:
* r=xi+zk * T=xi+yj * T=yj+ Zk -
(30) When ]:& + ﬁ‘ = ].7& - ﬁi , the angle between the vectors A and B is:
* Zero * 45 : * 90’ * None of these
(31) If AB=0and AxB=0 and A#O the vector Bis: v
~ *equalto A * Zero * Perpendu,ular toA * Parallel A
(32) If A.B=0and AxB=1,then: , ,
* Two vectors are parallel * Two vectors are in opposite direction
* Two vectors perpendicular * Non of these :
(33) A.B gives:
* Projection of AonB * Projection of Bon A
* Area of a parallelogram * None of these
(34) If F=4i-2iandd =3i + 4} , the work done will be:
* 4 joules * 8 joules * 2J0u1es * 12 joules
(35) The dot product of a unit vectoriand K is:
* Zero _ *1] : * ] : * ]

(36) If i.b=0 whend =0, b 0, the vectors are:
* Parallel * Opposite * Perpendicular - * None of these
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{
(37) The vectors A and f} are parallel if:

+AB=0  +«AxB=0  «A=B A=B|
(38)' If AandB are two vectors then:
% AxB=BxA *AB-—BA *AB-BA  *AB-GA
| (39) Thedot product of vector A with itself is equal to: _
| *A * A o xA? * A
© (40) If A=AiandB = Bjthen: | B
. % AB=A «AB=B  *AB=0 * AB=A’
(41) If the unit vector and jare vperpendicular to each other then:
*ix]=0 xioj=0 0 . *i.j=1 *jxi=0.
(42) Which of the followmg is correct? : :
*i'j=j'j=k'k ; ‘ - *i-i=j . j=k k=0
*1i=j-j=k-k=1" *li=ixic

(43) For vectorV: o SR :
* V. V=0 = *VxV=V? *Vx V=V *V.V=Vv?
(44) If A=Axi + AyJ + Azk, B"’BXI + By] + Bzk then: .
* A'B—AxBx+AyBy+Azle N A B A,B, +A B +A,B,
* A-B=AB+A_B, +AB, *A-B=0 '
(45). The vector product of A and Bis perpendicular to the plane of:
*AB_-*BA *AxB@ *A-B
(46) The area of a paralle]ooram formed by two vectors A and Bis given by:

-—(AB) —[AxBl - *A.B

@7 Ifi i , j and k are the unit vectors along X, y and z axes respectlvely, then kx j =:
* ] L *1 * -] -

48) If two sides ol' a trlangie are represented by A and Bits area is given by:

*——(A B) —[AxB’ %[A.B[ le"Bl
49 jxjisequalto: * j* , o i * One * Zero
(50) ix(}' xﬁ)is equal to: -
: *One * Zero *Roo ‘.*j,
(51) kx (i x])has value: | | ‘

* Zero * One *i ]
(52) j-( x k) has value: R |

* Zero " * One * ] | ' . i

(53) j-(kx i)has value:

* Zero . *One * i * k
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ANSWER KEY

1. Subtraction of vector

2. Both of these

X, Speed .

4. XY - plane

8. Scalar

&. Head to tail rule

7. One

8. Negative

9. Neither

10. A Unit Vector

.1 1. Null Vector

12. UnitVector

28. 7=xi+zk

13, 90° 14. 3'Components |15:3

16. A resultant Vector 17. 180°‘ 18. 5 Unit

19. o '

A= ST T A T 20. 8.66N |21. 8.66N

22. JEY+F,) 23. \JF +F} + 2FF, Coso 24. 5N

25. F '26, 45° 27. Zero
29. y=xi+yj 30. 90°

32. Two vector perpendicular

31. Zero v 33. Proj.of Bon A
34. 4J9ule | 35, Zero 36. Pefpendicular
37. A x B=0 38. A.B=B.A [139. A2

40. A.B=0 41.ij=0 42, 15=]j=kkn1
43. V.=V’ ?&f.§=A$Bg%AyBy+Az'Bz 45. A<B

46 |[AxB| a7.-i 48. ~[3 x B

49. Zero 56. Zero 1. Zero

32. Zero 53. One




